Berechne, wenn moglich, die Nullstellen dieser Funktionen!
a f(x)= 26> -3 bx
e qii)= x> 2x*-5x+6 (Polyndiision)
9 = (- b2)-
6 J)= Vx4 A0

A [(R=0 - 2 -8+ bx =0 ()
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21"-8} tb=0 |:2
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Berechne, wenn moglich, die Nullstellen dieser Funktionen!
a f(x)= 26> -3 bx
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Berechne, wenn moglich, die Nullstellen dieser Funktionen!

a f(x)= 2x5 -3 x

(2. FTRS LA -
9 = [~ hd) - &

9 0= 2V +A0

)‘€3XM

3 ('Xs’fllxa =0 |SVNP
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X2 +th=0 ) e’3x»~|_%0

XQ('X l'l«l) =0 ISVNP
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Berechne, wenn moglich, die Nullstellen dieser Funktionen!
a [Ix)= 2% -3 bx
e (l( X\ = X3' lxz- Sx+b ‘Poljmnﬂivision)

9 0= (-1 )-

D0

Vx4 +40 =0 Ho D-RZ
2%y ==AD1:2
XU =-51()*
X-0 = 25|+
X =

Probe: J129)= @-423-4 a0
2-425 +40
= 25+A0

= J0+A0=2030 %
kene Nullskellen
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